Liens vers les calculateurs de ROS et d’Impédance. Cliquer sur les images

VSWR 10O RETURN LOSS CONVERSION

An online conversion tool, converting between VSWR, return loss and reflection

coefficient.

VSWR to Return loss

3:1 = 6 dB
2:1= 9.5 dB
1.5:1 = 14 dB
1.2:1 = 20.8 dB
1.1:1 = 26.4 dB

—| Value

17

Return loss @ 17 dB
VSWR 1.328 : 1
Reflection coefficient (C) 0.141

Convert

o VSWR may be specified as 3:1 or just 3.
o Return loss should be positive in dB
o Reflection coefficient should be greater than 0 and less than 1.
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